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Write eaxch cquation in standard Tosm.

L ofix = dy & B cos - 2. —dx = Sy + 1k

3. 5x = = 0y + 3 4 B — Zlp 4+ 13 =10

B 1% & y— =1 e E— . lidy = Zx <= 1B

7 @y = 12x — 35 B12x — 34y — 253 =0 _
8 Xr= —5y + 1 m, 10z + 2y — H =10

Write an equation in point-shepe form for the line that has the
given slopge and that comtains the givem point.

1. shogpee T (1. &b aF alope 3. (4, 0)
% slope 4, (T, 20 18 sbope 5, (6, 51
15 slope 3, (&, 41 15, sbpe 1L 05, B)

Find the » and p-intercepts for the graph of sach squation.,

i Foc 4 Ty I e A F 2y = 12
¥ x4 [0y = 3 — 0. 2% #+ ¥y = 14
v x + Gy = 15 — 3 Tx 4 Fp = 21
. 1 — Fp = 50 24 G 4 Fy = 36

Wrile @an equation n polnt-slops form for the line that
eontains aach pair of points.

ZE {5, 41, 17, 12] _ % (1,51, (2, &) -
2T, L7 I, 04, 2] . (6, d], (10, 20)

Write an sgquation n standard form for the line that
eontains each pair of polnts.

ze 0Z, 90, 01,30 _ — o, (5.2 (8, 12}

a1 {9, Bk (4.7 2 [5.8).12:. 2)
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